Efficiency vs dr

—=— DQM_TT__mkFit-DQM_time_old132

.| —*— DQM_TT__mkFit-DQM_time_new132

1072 107

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.01
d).009
E
Q.OOS
9.007
>
$9.006
2
35=@.005
@
0.004
0.003
0.002
0.001
e

Ratio
N

0.95

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu

50.02 : : : :
& o oF : : : ; :
CONUNES bbbl AR I s

o T

o) r . . . .
KR | RN FEEEH B IR S
t . . . .

BO012E oo e
T e B O e
0008 | L
o i L

0,004 oo+ [rovsrersdeseesfoesnedfe oo
e | IMAAN ! I IS S

~F. i i Al | |
O 1.WJ Y Y
= r . .
© L 8 8
d :
Pt----- . ... JD R e D

09%5~ 55 60 65 70 75 _ 80

Pileup



	Contents
	Page 1


